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HOME SCIENCE

e [Qaun

PAPER - Il ur-II
Note :This paper contains Fifty (50) Multiple-choice/Assertion and Reasoning/
Matching questions carrying TWO (2) marks. Attempt All the questions.
W0 A wereil v (40) sgRselly Wall, vl A Dssi wrtaqrt Nl
8. it Wallrl et avidldl 8. ucs waqtl @ () e B
1. Rancidity is found highest in .......... . Al ag vy (3=0G4)

(A) Fried foods

(B} Boiled foods

(C) Steamed foods

(D) Baked foods

1.0 ppm is equal to ................... .
(A) 1.0 mg/100 g

(B) 1.0 mg/1000 g

(C) 1.0 pg/100 g

(b) 1.0 pg/1000 g

Which of the following is not

considered as a food additive ?
(A) Antioxidants

(B) Preservatives

(C) Artificial sweetness

(D) Salt
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(A) 1.0 A3u./100 3um
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(C) 1.0 *uSsl30/100 4
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(A) i-dlviidls-z
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4. Cooking methods wuse dry 4

heat ...........c....... .

(A) Grilling and boiling
tB) Baking and boiling
(C) Baking and grilling

(D) Steaming and baking

5. Essential ingredients for jam g

preparation are ................... .
(A) Pigment and sugar

(B) Sugar and protein

(C) Starch and sugar

t

{D) Pectin and sugar

6. No. of ATP molecules produce in 6.

anaerobic glycolysis are ................ .
(A) 10
(B) 20
(C) 2

D) 8

Home Science-I1 4

iaadl Fdl 3 FHi Y5 -l Guaiat

iy 37

(A) 3ll[&oL wiA olSdla

(B) oigloL v oSl

(C) Al v 3o

(D) ¥lor 2 sl

oy oi-iadl w2 3 Arel ...
(A) Woil-e (In) i viis

(B) “is 24 Wl

(C) 21l 2 wis

D) UsdlA v wis

siisalanl Aetwul sy

(A) 10 AL il o &
(B) 20 A gl o 8
(C) 2 AN vgtl oA B

(D) 8 AAUAL gl 611 &



7. Yoghurt is prepared using ............. . 7. dPRed (8dl) ariqar w2

........

(A) S. thermophillus (A) 2. wlFlan-l Gudion wy 6

(B) L. bulgaricus (B) 4. sl sl Gualor aiy &

(C) L. casie (C) e, Rl Guuia ay &

(D) 8. thermophillus and L. (D) A, aislan  »w4d W,
bulgaricus @I su-ll GUYaL wy B

8. Probiotic bacteria mustbe ............. .8 Moudidls aseRut ...,

(A) Acid and bile resistence (A) RS L oudy -2 glal ATH

(B) Only acid resistence (B) #5d ARS Il wlal ATH

(C) Only bile resistence (C) 55 oudd e~ sial AdA

(D) Only alkaline resistence (D) 55d suestd W22 sia ATA

9. The normal body weight gain g sefawy s3xu Al ABLA a8

during pregnancy is ................. .

..............

(A) 5-7 kg (A) 5-7 (.
(B) 10-12 gram (B) 10-12 ¥
(C) 10-12 kg (C) 10-12 (3.3
(D) 3-4 kg (D) 3-4 3.3
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10.

11.

12.

Glycogen is stored in .................. .
(A) Liver

(B) Muscle

(C) Liver and Muscle

(D) Liver and Kidney

For children’s hostel menu planning

one should take care of ............... .
(A) Nutrition and variety of food
(B} Cost of the food

(C) Quantity of food service

(D) None of the above

An important aspect of planning a

pre-school is :

{A) To meet all parental demands

(B} To ensure health and safety of
children

(C} To have the most advanced
infrastructure

(D} To ensure maximum
enrolment
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13. Institution that cater to people with

14.

special needs should .................. :
(A) Meet all their need at one

place

(B) Abide by  legal and

constitutional norms

(C) Provide free services

(D) Reflect an attitude of sympathy

An important criteria for staff
gelection for a development program

should focus on ......ccoueeen.n. ;

(A) Qualification

(B) Maximum input of man hours

(C) Commitment to the cause and

objectives of a program

(D) Recommendation received
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15. A home for elderly should focus

16.

L0) § R .

(A) Changing nutritional needs

(B) Care for illness

(C) Providing emotional security,

companionship and positive

engagement
(D) Medical facility
Fashion changes

are more

acceptable to .................. .

(A) Young Adults

(B) Infants

(C) Elderly

(D) Middle aged
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17.

18.

Sourcing in an  apparel
manufacturing wunit is the
responsibility of .................. .

(A) Fashion designer

{B} Convertor

(C) Merchandiser

(D) Finigher

As the bust measurement increases,

the size of the darts ................. )

{A) Decreases

(B) No change

(C) Increases

(D) May increase or decrease
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19.

20.

Stitch imbalance 1n a seam is

vigsible as .................. .

.(A) Net formation

(B) Bars
(C) Rib
(D) Loop formation

The selection of home textiles like
towel, is based on the following

properties ................ .
(@) Absorbency

(b) Washability

(¢} Softness

(d} Durability

(A) a

(B) b + ¢

C) a +d

D) a, b, ¢, d

Home Science-11
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21. AbacaiS a .....occoeernn. } 21.

{A) Seed hair fibre

(B) Fruit fibre

(C) lLeaf fibre

(D) Bast fibre

22. The wild or tussar silk is fed 29.

') 1 PRUOUP .

{A} Oak leaves
(B) Peepal leaves
(C) Neem leaves

(D} Mulberry leaves

23. The amount of yarn required for 93

weaving a particular length of

fabric is termed as .......ccooocl :
(A} Yarn count

{B) Yarn weight

(C) Yarn number

(D} Fabric weight
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24.

25.

26.

Under microscope silk gum is visible

Y- SO :

(A) Pits |

(B) Scales

{C) Striations

(D) Lumen

Polyester is made from ............

(A) Adipic acid + Hexamethylene
diamine

(B) Terephthalic acid

(C) Caprolactam

(D) Boric acid

Horizontal lines in interiors convey

the feeling of ................. .
(A) Flexibility

(B) Steadiness

{C) Activity

(D} Movement

Home Science-I1
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27.

28.

29.

The non-stick finish on utensils and

equipment is made up of ............. .
(A) Teflon

(B) Fluorocarbon resins

(C) Aluminum

{D) Petro-chemicals

The attribute by which one can
recognize and describe a colour is

called .................. .
(A) Shade

(B) Tone

(C) Hue

(1)) Quality

The arrangement of rooms in

-respect to their relative position

and activities towards each other,
while planning a house is

called ....c.cocoeeeen.
(A) Grouping

(B) Zoning

(C) Isolating

(D) Segregation

Home Science-I1
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30. The study of work step by step while

31.

a worker is performing a task can

be done by using ... :

(A} Operation chart

(B} Pathway chart

(C) Motion chart

(D)

Process chart

An infants head and upper body

looks bigger in comparison to other

organs. This indicates the principle

of e )

(A) Cephalocaudal sequence

(B) Optimal tendency

(C) Critical period

(D) Proximodistal sequence

Home Science-11
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32. According to Erickson's psychosocial

33.

theory, a school going child is in the
stage of ... :

(A) Autonomy Vs. Shame and

Doubt
(B} Industry Vs. Inferiority
(C) Gencrativity Vs. Despair
(D) Trust Vs. Mistrust

Culture and human development

are ..o, .

(A)

Inseparable and go hand in

hand

(B)

Mutually exclusive

()

Important only to cross cultural

psychologists

(D} Dictated by Hindu mythology

Home Science-I1
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34.

35.

A child having dyslexia (a learning

difficulty) faces problems in ............. .

(A) Distinguishing alphabets and

their orientations

(B) Counting 1-10°

(C) Recognising colours

(D} Creative thinking

A preschool child enters the doll

house and starts to cook, clean and

feed dools. This indicates ............ ;

(A) Creative play

(B) Outdoor play

(C) Pretend play

(D) Destructive play

Home Science-I1
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36.

37.

38.

Learning experiences should be

planned on the basis of .............. .
(A) Knowledge of the teacher
(B) Values of the society

(C} Previous experience of students
(D) Student’s resources

Adult literacy rate, life expectancy
and GDP per capita are the

components of ................. )

(A) Poverty index

(B) Human development index
(C) Economic development index
(D) Gender empowerment index

Need assessment is an important

step for ... .
(A) Budget and approval of funds
(B) Educating the public

(C) Developing clarity about the
type of intervention of services
required

(D) Convincing foreign donors

Home Science-II
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39. The main aim of IADP was

170 JNRTOTOR .

Encourage adoption of

improved farming techniques

(B) Rehabilitation of displaced

farmers

() Rural reconstruction

(D) Promotion of cottage industries

The purposive monitoring and

evaluation 18 not to ................. )

(A) Enhance program

implementation

(B) Improve service quality

(C) Maintain administrative

control

(D) Add to basic knowledge of the

discipline
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4].

42.

In communication process,

environmental noise is a ............... .
(A) Physical barrier

(B) Semantic barrier

(C) Technical barrier

(D) Psychological barrier

What is the most challenging
component)aspect of deciding a
communication strategy with a
heterogenous group of the same

gender ?
(A) Addressing social class issues

(B) Focussing on meeting multiple
needs to maintain audience

involvement
(C) User suitable technology

(D) Keeping it low cost

Home Science-I1
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43. Verbal guidance is least effective in

teaching .......c.cccccce... .
(A) Attitude

(B) Concepts and facts
(C) Relationships

(D) Skills

Which of the following is not a basic
requirement while establishing
relationship with people in your
role of a. change agent ?

(A) Knowledge of people with

whom you work

(B) Being empathetic, warm and

sensitive

(C) Showing respect for people’s

competence

(D) To always remember names of

people

Home Science-11
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45.

46.

Which is a good medium for
conducting parent education in a

rural area ?

{A) Pamphlets

(B) Slides and power point

(C) Local folk media followed by
discussion

(D) Discussion based on display on

bulletin board

An “Emic” perspective in research

refers to .................. .

(A) Philosophical viewpoint by an
expert

(B) An “insider” view about a topic
that is culture specific

(C) Scientific riguor

(D) Generalisations from survey
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47,

48.

Correlational studies are best to

understand ....................

(A) Cause and effect relationships

(B) The nature and extent of

relationship between variables

(C) If 2 groups are statistically

different

(D) Selection of a control group

A standard tool can be valid and
reliable across all cultures if

translated corretly.

{A) True

(B) False

(C) Neither true nor false

(D) Not applicable
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49

50.

The quality of a research study
is primarily assessed based

on .

(A} The way recommendations are

implemented

(B} The riguor followed in the

entire research process

(C) The type of sampling

(D) The way of writing

When is a ‘¢’ test most
appropriate ?

(A) To test difference between

mean scores of two groups

(B) To find of relation between 2

variables

(C) To predict effect of one variai)le

on the other

(D) To describe group trends
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ROUGH WORK
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